Topic 1 — Systems of Linear Inequalities (Ch. 6) Pre- AP Foundations 20
6.2/3 Solving Situational Problems of Systems of Linear Inequalities — Day2 (Concept #3)

Example #1 A cupcake requires 35 grams of sugar and 50 grams of flour, and a muffin requires 30 grams of
sugar and 65 grams of flour. Emily needs to use at least 460 grams of sugar to make cupcakes and muffins,
and she wants to use at most 970 grams of flour. Use a graph to display all possible combinations of
cupcakes and muffins to meet the inequalities.
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Step 2: State the domain and range and any restrictions.
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Step 3: Write a system of inequalities. (Also known as constraints)
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Step 4: Graph the inequalities. L
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Step 5: Find two coordinates that satisfy both inequalities.
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Questions:
a) Verify one point and explain what the point means within the context of this situation.
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b) What is the minimum amount of cupcakes and muffins that she can bake that satisfy both inequalities?
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Example #2 A parkade can fit at most 100 cars and trucks on its lot. A car covers 100 ft* and a truck covers

200 ft%. The lot has 12,000 ft? of space. Use a graph to display all possible combinations of trucks and cars
that meet the constraints.

Step 1: Define the variables Step 2: State the domain and range and any
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Step 3: Write the inequalities (Note: in the future these will be called the constraint inequalities)
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Step 4: Graph the system of inequalities b
within the restrictions. L
Fully label the graph! Ly
AV T lcv — Qs
yL ~¥+joo gy ot HA00 N Y=L
o q‘ \7)’\ \, -0 SO QO go
L 2 EAY4V ) V} [
Stop y .né-. ’ix +éO k;i Fee E \
* F o
5|opi> y~.‘M :_ (e ki
yc &
MRERIVE S ‘
B 's lex f.;u;gyfga 2000~
Step 5: Determine two possible il i o, '\}e‘fv = /;%x +6
combinations of trucks and i AN VK7 =
cars possible on the lot. o 2 5o o s> L5 7o 80 Ao N i 28 (5= 7
#CF Cars

(25cues, 10Trcks)  (S0cws F0Hrcks)

Question:
a) What do you think the points of intersection on the graph mean?
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NOTE: The question below will be considered fully answered only by following all of the

five steps in the examples in today’s lesson.

1. Your company makes Ipods and MP3 players. Each one must be processed by 2 machines. An Ipod takes 1
hour at the moulding station and 1 hour at the wiring station. An MP3 player it takes 2 hours at the moulding
station and 1 hour at the wiring station. The moulding station is available for 16 hours and the wiring for 10
hours. What combinations of each music item can be made to meet the constraints?



